
Time: 10 Minutes Paper Math 4 (T-1) Total Marks: 10

1st Month, 4th Week, 2nd  Day Unit # 1

Q.No.1. Choose the correct option: (6 x 0.5 = 3) 
i) By dividing 816 by 4 we will get:  4 816

(a) 200 (b) 202 (c) 204 (d) 206

ii) By dividing 3 294 by 61 we will get:  61 3 294

(a) 53 (b) 54 (c) 55 (d) 56

iii) Solution of 6 972 ÷ 42 is:  6 972  ÷  42

(a) 166 (b) 167 (c) 168 (d) 169

iv) If we put 3 250 oranges equally 25 baskets, how many oranges are there in 

each basket?  25  3 250 
(a) 120 (b) 125 (c) 130 (d) 135

v) 1 568 ÷  28 = ?
(a) 56 (b) 57 (c) 58 (d) 59

vi) By dividing 1 068 by 12 we will get:  12 1 068

(a) 88 (b) 89 (c) 90 (d) 91

Q.No.2. A shoes factory manufacture 25 850 shoes in 25 days. How many
shoes will it manufacture in a day? (1 x 2 = 2)

 25 850  25 
_________________________________________________________________

_________________________________________________________________

Q.No.3. If 4 833 biscuits are packed in 27 boxes, then find out how many
biscuits are there in a box ? (1 x 2 = 2)

   274 833 
_________________________________________________________________

_________________________________________________________________
Q.No.4.A bus has capacity of 45 passengers. How many buses would be
needed for 1 575 passengers? (1 x 3 = 3)

 1 575  45 
_________________________________________________________________

_________________________________________________________________
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